Name______________________________Per____Practice Quiz on Enthalpy
1) A 3-gram sample of heptane, C7H16, is combusted. The enthalpy of the reaction is ΔH = - 4819 J/mol rxn. The energy is used to heat 90 grams of water originally at 17°C. 

a. Balance the combustion reaction: ___ C7H16 + ___O2 ( ___H2O + ___CO2
b. What is the final temperature of the water? Report your answer with 2 decimals.
c. Is this reaction endothermic or exothermic? _____________________

d. Sketch a reaction coordinate diagram for the reaction. Label the axes and the minimums and maximums on the graph.

2. Three grams of substance X combusts. There are 1.25 grams of X remaining when the reaction stops. Seventy grams of Y are warmed by 15.5°C with the fire from the combustion reaction. The specific heat of Y is 2.45 J/g°C. Determine the enthalpy of the reaction in units of J/g. Report your answer with 3 sig figs.
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1) A 3-gram sample of heptane, C7H1¢, is combusted. The enthalpy of the
reaction is AH = - 4819 J/mol rxn. The energy is used to heat 90 grams of
water originally at 17°C
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-1520 J  (a negative value makes sense since this is an        
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